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wer all the bit questions of a particular question

D serially at one place to ensure effective valuation. Lrid
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Use of calculator is prohibited.
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Answer from all the groups as directed.
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a).

Which class of chemical compou

Which of the following 0 1 M
solutlons is likely to have the I
depression in freezing point ? \_/
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NaCl

The formula of sulphur molecule is :
amePel e 49 (89 |

T A

iii) Sg iv) Sg

used to relieve pain ?
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i) Gasand liquid i L
i e iii) Solid and gas |
 ¢) Aluminium isCé

elec

a molten mlxture of :
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). ALO, +KF + NaAL;F¢ - l)
i) ALO, + Na,AlF, + CaF,
i) ALO, + HF + NajAlF,

iv) ALO,+NaF +CaF, ! “\ e

§§  C,HgBr + C,H;ONa — C,H50C
The name of the abovc reac i
QdQ QOGPQJG‘Q @ q
i) Rlemcr-’l"iemann reaction
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i “‘5‘ dol ‘condensatlon
S“m Williamson synthes'is
~ iv) Kolbe's reaction S
g Natural rubber is the polymér of |
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- Answer the followmg questions :
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a)

~over again produces the complete crystal

glucose and fructose ?

Write the name of the reagent that reactg;f'f'i B
with formaldehyde to give sodlum formate-' 3
and methyl alcohol. :
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The smallest repeatlng unit in

lattice which when repeated over and

1S : ’ 4
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The IPUAC name of complex
Na,[Fe(CN)gNO] is '
Na,[Fe(CN;NO] €@@Q IPUAC  QIF

' a6Q' | |
What is the relation between standard J°
Gibbs' free energy and standard emf of the
cell ?
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Which disaccharide on hydrolysis
presence of the catalyst mvertase pmdu 2 |




&2 Whlch noble gas m1xed w1th ,
used by sea-divers for their reSp1ra
under water ? ( p
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g) Write the names of the vitamins, the *

deficiency of which (i) causes anaemia a@
(ii) damages the reproductive syst

in men and women. -
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3. Answer en questions of the following :
2x7=14
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What happens when sulphur dioxide gn_ ‘
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-What is the role of hmestone m

1-3 volt, calculate the emf of the
- 49 25°C @l@ﬂl@lea F———’

Q10 AR 9R 6R6e 2419 @Q | :
What is Rosenmund's reduction 'J*;
equation. | A _
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Why is electron affinity of chlorine greater
than that of fluorine ?
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Explain, Tyndall effect.
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. What happens when ethyl alcohol is

heated with excess conc. H,S0, at 160°C ?
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extraction ofiron ? »
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| i) Match the compounds in ~Column I
their functions in Column II corréctiy T
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Column I

a) 1% solution ’ & “ Preservatlve

b) Sg&@l ydrogen . ii) Art1ﬁc1a1_

0& ~ carbonate sweetener

iij) Antacid

b | d) Sodium iv) Disinfectan

metab1su1ph1te



and amorphous solids. \/
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-~ b} What are interhalogen compounds
P Expléin with example. ? E
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c) What are and Condensatlo

’ o yrﬁw ne example of each. 1
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6“ Write three differences between physm
and chemical adsorption. .
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€¢)  What is lanthanoid contraction ? Write
of its consequences.
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"The b0111ng po1nt of benzene 18 35312 K Gl 4 ,
When 18 g of a non-volatlle solute was e

molecular mass of the solute. \_/

- o e (C) a6 |
. @m (4).(B)6 ( c)Q

dissolved in 90 g benzene the boiling point
was raised to 3541 K. Calculate the

( K, of benzene = 2-53 K kg mol™?)

6@819@ GORlE 3532 K 6o | 66QEQ6R
1-8 ¢l QAL Q@ 90 qll GQQ@QGQ Q1YL
cQml, GQ@@QQ Go@la" 354 1K Q@
giaml | QIQQ 26000 @99 QaiQ @Q I

( GQQ@QQ K, =253 K kg mol™!) %
Discuss the mechamsm of Sy2 reaction.. %\‘

SN2 O@@QIQ @QIQU o IISOUNN )
and - linkage

What  are jonization
isomerism ? Give one example of each.
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Benzoic acid on treatment with Br2 and

FeBr, gives the compound (A ), which ‘ons =&
treatment with NH, gives the compound

( B). The compound (B) on heating gives
the eompound ( C). Write the structures of
compounds(A) (!B and(C)mthe
above sequence of reactions. |
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Answer any three quesnons ST
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Write the method of preparauon of p

from chlorobenzene by Dow's Ppro .‘

What happens when phenol reacts with
(i) conc. H,SO, and (ii) acetyl chloride i
presence of aqueous NaOH solution ? *
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(i) €IQ H,SO, G, (i) @R1<, NaOH QQ€|_
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Arrange (the- following compounds in the
order of their increasing acid strength: 1
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Define specific conductivity and molar &
conductivity. What is the effect of dilution|
on them ? BT 13+ 13 + |
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mol-l respectlvely cal
conduct1v1ty at mﬁmte dil
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i Disc_uSs the principles in
preparation of ammonia 1%1

What happens when (1)

oxygen in presen
and (ii) ammomg passed through

sulphate sol
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. 8.- a) Define moleculanty and order Qf Te:

Derive an expression for the rate
of a zero-order reac'aon -
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b)

2Ie64Q ? (log2 = 0-301)

‘Hofmann bromamlde reactlon

for 75% completion of the rea@hml fae.

(log 2 = 0-301)
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How can you prepare methyl amme %

action of methyl amine wi 1 and
alcoholic KOH d (i1) methyl

1od1de 'P 2+ 2+ 2 4
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Arrange the following amines in therff

increasing order of their basicity : ; 1-5
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C,H, — NH,, CH, — NH,, C.H. NH’z% fs




